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(Fereir T

T <hl TeIfEd, Wﬁwaﬁm%wﬁ%&ﬁwtﬁmﬁﬁﬁwﬁm
TN WX 3ifeRa fomam T o 2

BT

Prashasti of Samudragupta in the form of a poem in Sansknt was composed by which
poet that was inscribed on the Ashokan pillar at Allahabad M,

Harishena

Khizr Khan was a ruler of Delhi, belonged to whloh of the following dynasties ?
Sayyid Dynasty

ﬁam@a@éﬁmnmﬂwaﬁlsooﬁmmﬁnéﬁ?
= St

By whom the Fort Wﬁham College located at Kolkata was founded in year 1800 ?
Richard Wellesley

O T, = o O S——— S me—

Whlch of {:he followmg was the first Harappan site excavated in Independent India ?
" Ropar

. T A 3% SR 1 e i A & e A |
WTWT 1500 =1 wget ferer T oot | s 7 & FrferRea 3 & fore T T Suetey § 2

e, IO

The teachings of Mahavira and his followers were transmitted orally for several
centuries, they were written down about 1500 years ago, presently those are available at
which of the following places ?

Valabhi, Gujarat
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6. vt Tt aricier <61 frferftea aetali ohl 3k wfed g o o & firerd -
(i) wwEieh § fpam aridier (a) 1921
(i) TrETeH Tiieht ¥ NarEet Hit (b) 1918

PIEIED

(i) TSR I edtag (c) 1946
& fopan

(iv) 3rgwemEne i worgtt (d) 1928
I gSdTe

Match the following events of the Indian National Movement W1th the yéar they had
taken place : \

(i) Peasant movementin  (a) 1921 gl Y
Bardoli ' i

(i) Mahatma Gandhi visited (b) 1918 , S
Noakhali Ao

(iii) Gandhiji began wearing (c) 1946
a loincloth -\
(iv) Mill workers strike in __(_d)_1928 i g
Ahmedabad '

(i)-(d), (iD)~(c), (iii)=(@), (i¥)- (b)

7. WRG SRR Arutrm; 1935 9 < fere foifew dee g wia v wan srfufem o | @
Eﬂ@rmﬁﬁaﬁﬁm agaaaréﬁ%sw A 3rer-arer At 3§ fnfoa foram men
mmﬁwwwﬁrﬁm 19353 |

aﬁwaﬁﬁm 1935

The Govcmment‘ of India Act, 1935 was the longest Act passed by the British
Parliament*for India. The Act originally passed, being very lengthy, was divided into
__tyg§;§5p§{ate acts namely, the Government of India Act, 1935 and

. Government of Burma Act, 1935

s waer 3 forstror 3 QR i A i bt shifer b feam e ait e st (1ist 6 e &E)
0 werenft Jrigre gt o, 3 fforfteaa o @ R A & ST ST o 2
TCHTCH SAQIETT
The partition of Bengal infuriated people all over India and Swadeshi Movement had
taken place in deltaic Andhra, it was known by which of the following names ?

Vandemataram Movement
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9. &Y 1922 T AN 3ielei i Feifed HH & wre s @t 3evuemETe 3 e o forn
TRIT 31 o eIt o WTETROT ShRTeTe <hl TSI AT TS 2

L4

After suspending the Non;Cooperation movement in the year 1922, Gandhiji was
arrested at Ahmedabad and sentenced to simple imprisonment for how many years-

Six

10. 13 S, 1943 %\ guTeeg g Feferiea 3 & fraeh fresor g g irn :mqav
e e '

Subhash Chandra Bose had come to East Asia on an mv1tat1011 frgm which of the
following on June 13, 1943 ?

Rasbihari Bose ; -
11. TR w1 B v At g e mv%amﬁam%?
Rranfers Aoft (&) .
Whllch part of the Himalayas is composedr %ﬁﬁ}mohdated sediments brought down
by rivers ? \\ -
The Shiwalik Range “5\ L -
12. Tr=foafea & @ g «oqm (W) BRI %ﬁmm%?
femrge _
Which of the followmg is also called “Brown Coal” ?
Lignite A R ‘*ﬁ'
13. ﬁﬁ%mﬁaﬂta’gmaﬁm%aﬁawmwwm% WU BT @, 39 WX <hl ol et
FEAN )
Gmam.\(miw)

Al Ahe space between particles of soil and gaps between rocks are filled with water, the
upper limit'of this layer is called :

A é _“Water Table

i_:_:-_':14 mﬂ;ﬂﬁ@aﬁaﬁmmﬁﬁ%aﬁa?ﬂq%mﬁmﬁ@w%@rﬁaﬁ%lw“
ﬁﬁ”wwwaﬁ%v

T TEHIE (FTEeS HER)

El-Nino is the complex weather system that appears once every three to seven years.
Here what is the meaning of the word El-Nino ?

Child Christ
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15, frerferaa 3 2 R e 3 250 Hiex (820 Hie) 7 959 98 W % Ao § 3N g Wil
v =1 gl wer ufifed &m0

T I el WP

Which of the following desert contains large sand dunes up to 250 metres (820 feet)
high and the largest contiguous area of sandy desert on Earth ?

The Rub al Khali Desert

16. o o wRwn w1 ugern Frafa s 8 (399 et v feme e o 2

'ﬂﬂ?:ﬁT TSI
Where was the first Export Processing Zone (EPZ) of Asia set up m Incha ?
Kandia, Gujarat

17. mﬁam%mwwaﬁwmmﬁﬁsﬁm m%mm
3R e, Rl 3TN Iereehr’ mw%ﬁamﬁngmmmaﬂwaagﬁw
{g‘[‘?

qrad|

Which edition of the Five-Year Plan aimed at acceleratmg food grain production,
increasing employment opportunities & raising productivity with focus on ‘food, work
& productivity’ and that was very successﬁ.ll 2"

r,‘
|

Seventh
18. fr=ferfaa # @ =i ‘ﬁm‘cﬁaanﬁifﬁﬁzhﬁq%sm”a‘?
. fvavaan ""—!{5

Who among the fo Howmg'was ‘l:he father of Indian Economic planning” ?
M. Visvesvaraya A

19. mﬁ%@fw%am mmﬁwﬁlsmmﬁm%wm
@%mﬁmﬁ:ﬂlﬁmﬁﬁgﬁﬁ&ﬁqmmwﬁﬁmwﬁw

_Dli'ring its first phase, Operation Flood linked 18 of India’s premier milksheds with
* consumers in India’s four major metropolitan cities. Which of the following cities was
not the part of this operation ?

$ ~Bengaluru

| 20, Wﬂﬁﬁu&aﬁﬁw%&z%ﬁaﬁamﬁ Frgaf &t 2 3 sifem Suwier
ﬁ%‘«hﬂoﬁrwaﬂ?ﬁ%?
TR T

Which salient feature of GST allows the seamless flow of credits and reduces the tax
burden on the end consumer ?

Destination-based Tax
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21.

frafiRaa ¥ ¥ frg Tmer W athel S Ry S U ST S 6 wfe 7, B
Frerfire iRl < &9 T ST 1§ ?

TGS

On which of the following matters Union Legislature alone has the power to leglslate that is
known as Residuary Powers ?

Cyber Laws

22,

[ERERICERRLR T ang?ﬁaﬁ#@r?

Who was the first Chief Election Commissioner of Independent Illdiéi.?. )
Sukumar Sen \ '

23.

e s b, 1976 % e st (3 T aﬁaﬁaﬁwaﬁ
qe TR <1 STAT ST 31T WIS S @ 2 o
YN 11

Which chapter of the Equal Remuneration Ac@ @76 contalns payment of remuneration at
equal rates to men and women workers and other" matters 4

Chapter IT ) 4

24.

Wﬂ?ﬁqﬂﬁﬂ?%%ﬂ:ﬂﬁﬁﬁ%ﬂﬁlﬂ}%ﬁ Wﬁwwﬁaﬁhﬁﬁwaﬁ
g; Wwﬁmﬁam%w

IR 175

Which article of the’ Indlan CQIlStll'llthﬂ includes that “The Governor may address the
Legislative Assembly, the Govemor may send messages to the House” ?

Article 175, .

25.

ﬁmﬁﬁaﬁﬁﬁﬁmaﬂtmﬂmmaﬁtﬁwamﬁﬁ ot 3t
mnﬁ%ﬁawwqmmézﬁawm% ?

e e 3 e

Whlch cf the following provides a comprehensive database of orders, judgements and
caSaig.eTallv of District and Subordinate Courts and High Courts ?

) "National Judicial Data Grid

P, S S—— T ¥ W o

TR

Which of the following animals possesses a well-developed water vascular system ?
Starfish
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27. et areres w1 ufaQy fPeferfea § O fora sres s it adi a2 2
Tt < AT

The resistance of a conductor does not depend on which of the following factors ?
Humidity of the conductor

28. =) ol A PrferRad o @ Wi | vt IR S 8 2
T TS

Which of the following acids is found in Unripe Mangoes ?
Tartaric Acid

29. ﬁn%ﬁaaﬁ%%amwmﬁm@nammﬁmﬁaﬂtwwmqﬂm%ﬁ%ﬂ
qrfY BT T o o fora feherm ST 2 2

Histiefiet

Which of the following instruments is used to measuyre tinderground water pressure and
to take water sample for water quality testing ?
Piezometer )

4
P .

b

30. mmﬁam%aﬁaaﬁmﬁﬁm&mﬁmmammav
R

The gap between two neurons in the Human Bram is known by which of the following

name ?
4 b ”-’.S

Synapse % A

:'.

3, ﬁmmawﬁﬂmﬂ%q |

Find the sum of the fo HQWIIlg B

Ly —11+L+--—.4ﬁi+ L

6 124 (20" 30 42 56 72
H _

R s
":-, ) 4

1
9

_ CIE))
3.2._ 4 zf\%sgm%%ﬁ W{E—f 189}18‘5‘1%?

(), )i| 1 is correct ?

/- For what value of x, statement
,_Forw at value of x, statemen |:21 189

-.J:.\

763

33, (81)! x 375 x 39 x (6476 x }f3)°=2
288
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34. (0.0203 x2.92)/(0.0073 x 14.5%x0.7)= 7
0.8
35, i <t T o, 3G a9 55 e @ 31 Afeh 62 et & @ & | wfiar <6l | i
} TEwd Tl @ 3T a8 et R o6 1t 61 a9 50 fremm @ aiftres wfeh 60 Reetim @
U B | 3U® WS 1 AT @ TR SRt aw 58 Fhellum @ surer T & wehar | A o @l
O FAH ¥ ad , o i o ferfr sl st w6 aitad = e ?
57 fepetam
In Geeta’s opinion, her weight is greater than 55 kg but less than 62kg Geeta’s mother
does not agree with Geeta and she thinks that Geeta’s weight is greater than 50:kg but less
than 60 kg. Her brother’s view is that her weight can’t be greater than 58 kg. If all of them
are correct in their estimation, what is the average of dlfferent probabla welghts of Geeta ?
57 kg 2\ N
36. fq -+ 3T % AT A B A1 eg T4 2 A f.:
37. o= @ forw forerea § wfi wreg ot m%sqq‘iwaﬁ ?
afi, afet, Frerm
38. ﬁm%f@aﬁﬁﬁmﬁwﬂqmm%mmwwqﬁ%?
gftfr Y T - ﬁ
\ J
39, I o) BN T G garﬁw aq?i%an% ?
g o a?ﬁtram |
40. ﬁm‘%ﬁﬂﬂﬁﬁwdmu 3ﬁt 3+Feh! TEMT o ATUR hIF T1 7 7Tl & 2
41. /ﬁ;-’fA person who'has an obsessive wish to steal,
"R b kleptomamac
P .':'-\f;"\, ¢ % pi
S, 42 ®E 111 in the blank with correct preposition :
"% Virat plays Cricket Football.
besides
43. Put the correct article :

President of the United States will be in Bharat next week.

The

7 3;. | KM3_8740



Read the following paragraph and answer the following questions : (Q. 44 and 45)

The State Emblem is an adaptation of the Lion Capital of Asoka at Sarnath. In the original,
there are four lions, mounted back-to-back, on a circular abacus, which itself rests on a bell-
shaped lotus. The frieze of the abacus has sculptures in high relief of an elephant, a galloping
horse, a bull and a lion separated by intervening Dharma Chakras. The profile of the Lion
Capital showing three lions mounted on the abacus with a Dharma Chakra in the centre; a
bull on the right and a galloping horse on the left, and outlines of Dharma Chakras on'the
extreme right and left was adopted as the State Emblem of India on January 26, 1950. The
bell-shaped lotus was omitted. The motto Satyameva Jayate, which means ‘Truth Alone
Triumphs’, written in Devanagari script below the profile of the Lion Cap1tal is part of the
State Emblem of India. N

44. Which of the following animals is not included in national ergb]e'm ‘? '

Tiger ¢\

45. What is in the centre of national emblem ? i,
Dharma Chakra e

46.  10:25 S Bl ohi ggal o site wfcrerdll shivT Bt &

2 .5-;,;
The reflex angle between the hands of a. clock at' 10 25 is
197 \ N

47. T Y SIS I

Pick the odd one out :
161, 207, 299, 34’?

48. maﬁwqﬁﬁﬁmﬁmﬁ aﬁtg@m@a‘ﬁ | S, T o Fepeaw @18 3R & 3
w@témwﬂm% lﬁﬂ?{‘q’lﬁ%ﬁt@r?@imm% | Frferfaa semi o @ sl @
ERERESE O

ﬁqaar&ﬁ{ﬁzﬁwnm%l

Flﬁeen children are standing in a row facing north. Saurav is to the immediate left of
/Radha and is eighth from the left end. Bimal is second from the right end. Which of the
# wfoliowmg statements is not true ?

B;mal is 13" from the left end.

49 S T ¥ T R, G HIHA Y TN § | TG SR e gt T R, e g A W
R, ieTehTdl Tia R ST T2l ], Tod Bl hiA |18 2

EARCAN]

Chennai is bigger than Jaipur, Surat is bigger than Kolkata. Raipur is not as big as
Jaipur, but is bigger than Surat, Kolkata is not as big as Surat, which is the smallest ?

Kolkata

KM3_8740 8 &
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50. =9 9% B G YA [ 1T fou T E | 3 B A1 Y T VT €1 Hehd @ AT T BN AT

HTT=T SHRUT 3 TTE B Gehal & | 57 & Teh sho U e BT T B Hehell & | ST el

1 73 3t ok o fp FrefiRea 3 & o @1 S frebed 37 Q1 et % el & |eY

TG AR |

O :

L Wﬁwﬁawﬂw%m%aﬁ%@ﬁw%ﬁmwmﬁm@%wﬁﬁ
frm g |

I TR Y genfa s s afig gt aa & m@m%wﬂwm%m% I
Iife St e 1 31K 11 Sdsl HIROT o 99T & |

In this question two statements I and II are given. These st_atefnents ‘may be either
independent causes or may be effects of independent Causes. 0"r a cd’mmon cause. One
and decide which of the followmg answer chelce coirectly depicts the relationship
between these two statements. A |

A

Statements :
I. The Meteorological Department hasissued” a statement mentioning deficient
rainfall during monsoon in many parts'of the country.

Il. The Government has lowered the reviséd estimated GDP growth from the level of
earlier estimates.

If both the statements I a’h'd lfhre effects of independent causes.

1.

Wt@ﬂ@ﬁﬁﬁnﬂ(ﬁsﬂaﬁﬁ{amﬁﬁmaﬁéﬁm)ﬁﬁmﬁmﬁ%mwm
Ta’lﬂaﬁﬂ%aam -2023 ﬁUPI‘ZIT%h‘%EFﬂS?IW FTa feRT 8 7

A% , _;_
" T
R @ ]

Natmnal Iigymeﬁjs Corporation of India (NPCI) has unveiled Credit Line on UPI at
the GlobaPFmtech Fest—-2023 at which of the following places 7

--~Mllmba1

52""{“13131‘&9(1?[ Fifaet SR Rre THmT w1 SIS Wikd SR % FfaRaa § @ fee wre

"x---x_‘*'g'mﬁmnmm ?

e TETer AR et foenr 3R Su i v

Recently, Akhil Bharatiya Shiksha Samagam had been organized by which of the following
ministries of Government of India ?

Ministry of Education and Ministry of Skill Development & Entrepreneurship

9 j, | KM3_8740



53.

frferiaa o & fopem g1et € # ST i aTedferes @9 § S1¢ &1 QEgHH SGH i o g
Teh METEel Ul 1oheH “Teigai= eli-a sl & ?

sft Ffeigt agy
Who among the following has recently launched a mobile application “Floodwatch” to provide
Real-Time Flood Forecasts to Public ?

Shri Kushvinder Vohra

54.

T & W, Wmﬁﬁm%ﬁmﬁmﬁﬁaﬁﬁﬁ%ﬂwwmmﬁﬁ
SifereT 1 e o & 7 | a
Recently, President Draupadi Murmu has unveiled Mahatma Gandhl’s statue at Wthh of the

following places near Rajghat ?

Gandhi Darshan P "ffi:f

55.

&It & 3, T g qired (i3Tst) %tﬁﬁm%mﬂﬁgﬁmﬁmﬁﬁam
aaﬁzhmmwﬁniwga%m% |ﬂmﬁ%ﬁﬁﬁ§ﬁmqﬁﬁwﬁwﬁﬁﬁz{w
I ?ﬁnrﬁgchﬂ??ﬁ% ?

Recently, Border Roads Organisation (BRO) has commenced the construction of the
World’s Highest Motorable Road close to, eastern Ladakh. Which of the following is
the World’s Highest Motorable Road presently ?

Umlingla Pass

56.

ﬁnﬁiﬁﬁﬂﬂﬁ%ﬁ%ﬁmﬁﬁw—w G Helg, hRIshH Tl fhaT & 7
WWW ﬁﬁﬁ

Which of the foliowmg \ergamzatlon has recently launched Eklavya — A Research
Affiliate Programme?*,

The Nhtmnal Law Umversxty, Delhi

57.

freffea 3 & Red gt € & wifrag, Yorer & s wreHg-Him afye TelE
el T A

Who among the following has recently received “Yashaswi Samman” at Kathmandu-
Kalifiga Literary Festival organised at Lalitpur, Nepal ?
» Dr. Madhav Prasad Pokhrel

58

Frerfrfiga # @ i a1 e gre @ fee (BRICS) o1 1901 9 T8 5T & 7
E& QL

Which of the following countries has not become recent new member of BRICS ?
Cuba

KM3_8740 10 & E




59. b A% TS el 8 o ICCR H SfeT §31 §, ICCR 1 qUf &9 11 & 7
TS i 3t shise Raifén
The Bank of Israel has recently joined the ICCR, what is the full form of ICCR ?
International Committee on Credit Reporting
60. THA I TS A FerferRaa § @ fore e v gfiqor et wfter § S ﬁﬂsﬁﬂﬁuﬁx
(Sraeft) 7 gfiret BN % gEares t geier fhu g ¢
ST, SSINIRET _
The Kingdom of Saudi Arabia has signed the Instrument of Accession {o thc Treaty of
Amity and Cooperation in Southeast Asia (TAC) at which of the. followmg p]aces ?
Jakarta, Indonesia
61. 39 fea =1 91 wand S wﬁwﬁ/m@sﬁﬁmﬁ%aﬂamaﬁ mﬁm%ﬁ *
ﬁmstmalsfhﬂataﬁmw%l e
Name the day that is celebrated every yearon 15":l qu’tember in India to promote the
habit of thrift among the students in schoolsfcolleges
Sanchayika Day :
62. W%qgéﬁaﬁﬁamgﬁmmﬁmfﬁwﬁmmﬁmﬁﬁgﬁ%aﬁnﬁ% ?
Which of the fo llo@ing.;iﬁ“-the 'i;'ﬂ'icial;",%language of India’s first planned modern city ?
English 2 ?» q
63.

ﬁw%%ﬂﬁé%aﬁw&awm% S WE @ Tgafa 3 3w i wifte 6

mm(mﬁm)ﬁm

The only. i 1ﬁstano‘g when the President of India exercised his power of veto related to
whlch of the following ?

-‘ Imhan Post-Office (Amendment) Bill

_*‘64‘, e e S feftd § 8 e @ i siteiics ew Sfa el TEer Hrd o
¥ o

kil

Khashaba Dadasaheb Jadhav had become the first Indian to win an Olympic medal in
which of the following sports ?

Wrestling
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65. Vferem fFariaes 2l o TS (3MUeh) <l TTOHT o foTT T gl g3t o ?
LA
Where the conference for establishment of the Organisation of the Petroleum Exporting
Countries (OPEC) had taken place ?
Baghdad
66. Fr=feriaa ¥ @ fopa et el 4 3 “fam B Yeh—heav” AT g«fmﬁi@? off 7
Which one of the following Indian Freedom Fighter had written a book named “Hints
for Self-Culture” ? g -_-_‘»f;'_
Lala Har Dayal :
67. wwwmwaﬁwwﬁ%ﬁmﬂm% '\
@TW _ w \
Give name of the strait which connects the Java'séa, to the Indlan ocean.
Strait of Sunda ‘3{""“-—? —
68. M WY % YR, mwﬁaqﬁﬁwﬁaﬁtq&ﬁ%aﬁawm % W 9
ST STTT 4T | ) 4
According to Rishi Manu the tract between the old sacred rivers Sarswati and
Drishdvati was known asy . 4
Brahmavarta 4
69. uﬁa@-ﬁﬁmm (NIO) wgwmﬁm%%aﬁﬁ%amm% ?
Th@;-ﬂationgl Institute of Oceanography (NIO) is having its headquarters at which of
thefollowing places ?
R _“Dona Paula, Goa
_::_.j._-“’m gm@%ﬁmﬁgt 87 1 s R Y sEe % w9 F Faet qeet g e e R
R 'ﬁﬂ (Wall Murals) 314v7 fer3l 5iTal & | 1=, “fyear w1 31 % |
3 o Q@
Wall Murals only painted by Men commonly in the Chhotaudepur area of Gujarat as
offerings to Pithora. Here, “Pithora” means
God of Food Grains

KM3_8740 12 , j




frTTRe eI A1 TG IO T SRAT % SACART : (3. 71-75)

3t feredt oft = b1 TeR 31eTT Wb g I aUE ST wve TE T8 TR § | WRa H fafte qen afit
forfayr wa-waiadl < < W-AE T T B | W@ T g stfes sl 8 e & T ol wh-gE
ST ; ST S ohY, I FBIST-STHIENST i TH3l I8 aeelis § IR b wnfifen forwarmi,
TR, SEFI T § | e S 3w 7 3 oft s sl 8, wiifh T Su R T,
T AT e % 78 & |Wﬁ%mmwﬁméaﬂtmﬁw—ﬁaﬁﬁaﬁwﬁ
g ST 3 | 1 g6 WA o1 s Rt i-dart 3 o darg 2 @ =R 1 Y R -
Hﬁﬁﬁﬁﬁﬁ%ﬁﬂﬁ%ﬁ?ﬁﬁiﬁ%ﬁﬁlﬁﬁﬁﬁﬁﬁﬁwﬁmmﬁ%aﬁa
Wwﬁﬁﬁﬁ%wméaﬂ(mﬁwﬁaﬁwwaﬂ%ﬁﬂzﬂléwaﬂ%é}
“gfe avft ae u & ol B A o, @ﬁw—qaﬁﬁmﬁsﬂtﬁ—xﬁﬁﬁwwm
H T, O I8 G guragel s g, aﬁ%%wmuﬁzﬁaﬂxaﬂﬁzﬁﬁm%m
TOTEITRR BRI TIT B BT TThicreh STel o wh1e g’ isﬁw—ﬁm’r —guem-der-REm % @
3R 3T Frameai i urET TR B S e | R o e 9 R T
fopeft Sfer-ent sitt v & wwifer &, uﬁﬁww% arefy Tt e e o e g |
Hﬁmﬁwﬁq&%ﬁéﬁ@@@m%l ﬂﬁﬂéﬁwgw%ﬁ‘taﬁaa@méﬁ%ﬁ
Trear Raer St 2 | \

71, RN % STER 99 m@%ﬁwﬁﬁawwﬁwm%

Hﬁaﬁm%sﬂwﬁ-mﬁmm AR ETRE R |

72. mﬁmﬁ%aﬁtanwﬁmﬁm%%nwwmm ?
waﬁwﬁw@aﬁmw|

73. mmﬁamﬁ% ?
Wﬁ@ﬁﬁmﬁmm%l

Snwﬁm 7eG, T SHEST: IUET, TSl Weg SR IR 8 7
L AR + I + T

_ L

‘“"'.5.::'.

75:’" ) fere 39 a1 B aHE & 3 3T rEm-frar S o & wga I Y |
TR T T B

R A
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frrferRee wrermr =i vyt g T TAT % IR : (3. 76-80)

59 Tl TgER o Jq:ede i gR-mivr- e ST wwer ot 3T TRl B | el o ferdiol
raet T 3 SR A WU UST § | TR 8, THh 9§ I AR Irg T o IR 3§
Hehe TR TTed T | Gt % et foemm iy o SRt € oRell ageT FEand § | 3990 W
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(1. 81-85) : FrferRe zmes ferfiver @it grar s G0 S # @R aTel HRT Rl qRItaT B
(Q. 81-85) : The following graph shows the time taken by different people to complete the work :
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\\ o

aﬁ%wﬂ@mmaﬁa}mﬁwaﬂ%ﬁwﬁmﬂwm ?
80/29 fe :

What is the total time taken to complete the work. 1f angf them work to gether ?
80/29 days

82.

ﬁmﬁﬁaﬁﬁﬁaﬁqmwwﬁ@wﬁwwém% ?
T ST T

Which of the following groups take mlrumum time to complete the work ?
Chaman and Ramesh

83.

ST, Herrel A AR B R S Gt frerert 3o & e § e ww § w i
amﬁmmﬁlmaﬁwwﬁmﬁﬁmﬁﬁﬁwmm%?

20ﬁ=f

Snehais tw%ce as eﬁiment as Kailash and together they do the same work in as much
tlme as taken by Chaman and Axay together. In how many days Kailash can complete

the WOrk\mdmdually T
20 days

|84,

5.5 T I T % SITE Th A 18RI S STl & | Afe 3 9 el bt 5 3 et 3 o hed
&, it e ket e ol e U U EhaT R 7

15
After working for 5 days Rakesh is joined by Axay. If they complete the remaining work in 5
more days, in how many days can Axay alone complete the work ?

15 days
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85. = 3N 8T Y UYh © Y 1 YE b | o ferl o e oft 3k wrer wfiret & i 3
39 tg 3 et 3 5 et T g ohm o ot fora | 57wt 6 et eTeRt 3,000 ST YT feRRT
| efee ent e o @ 2
Chaman and Axay started the work jointly. A few days later Mihir also joined them and thus

all of them completed the whole work in 5 days. All of them were paid total ¥ 3,000. What is
the share of Mihir ? \

3750

(. 86-90) : Tezm T w T forftre =t o @ (7o) W W, ST ﬁﬁma%ssh:ﬁgm
et Tl 1 Wi gt & | SR I 1 ST wht iR FrefiRe e S SR e )
(Q. 86-90) : Given bar graph shows the percentage of jobs held by peoples of Ind Y’ Afghanistan

and Nepal in the Gulf over the different years. Study the bar graph and answer the following
questions : h
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2018 2019 2020 2021 2022
Mm!aﬂndia mwﬁaw.»\fghanistun B3 fame/Nepal

86. ufe = 2018 aﬁtzon ﬁ:ﬁw&mﬁm@rwwﬁm‘rww 3:5 % 31t 2021 # @
(W)ﬁ%ﬂ'l’&ﬂ'ﬂMOO% s 2018 @t (7T6%) 3 uTet 3 et AT BT TaT T |
If the ratio\ of ti’lﬁ total persons who are doing their jobs in the year 2018 and 2021 is

3:5 and: the total Indians in the Gulf in 2021 are 4400, then find the total Nepal people
in the year 2018 in Gulf,

: 1680-\

87 aﬁaﬁzow T @ (TTe) H el W shi T oy 2022 Wil (o) § JHIT &N
%%Eﬁﬁ%w% Al eIt ot 6 @l (%) T AUTeT % @R ohT TUTA HTd <hiTT |
“ If total Indians in Gulf in the year 2019 are equal to the total Afghanistan people in

Gulf in the year 2022, then find the ratio of Nepal people in Gulf in the respective
years.

1:5
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88. afe 2020 T o1 =RA 2021 H Het AT AW % T AT 8 ST 2020 H Fiel W 5775
g, o 3a t b o 2020 H per wre e A 2021 W e ot AT @ fhd i JAfeen

g

If total persons in 2020 are three times the total Nepal people in 2021 and also the total
Indians in the year 2020 are 5775, then find that the total Indians in the year 2020 are
how much percent more than the total Nepal people in the year 2021.

5%

89. ufe = 2018ﬁmﬁmm%%?'ﬁ7ﬁiﬁm2340%3ﬂ(aﬁ2m83ﬂ1‘2019ﬁ
FHITIET o ST ol IFITT 45:88 &, aﬁa&zmsaﬂmowﬁﬁww w)ﬁ
el <hl et T T HIFIT |

If the total Afghanistan people in the year 2018 are 2340 and rat’@ of Afghamstan
people in the years 2018 and 2019 is 45:88, then find the totiﬂ number of persons in the
Gulf in the years 2018 and 2019 together. g\

20800

90. aﬁzms@rzozzwwﬂﬁamaﬁﬁﬁwﬁm‘raﬂr@@mz 3:3:4: 5%, 2018
2022 a it few ot o @ (w)ﬁwmﬁﬁﬁiﬂa_r\aﬁcrlﬁwa% |

If ratio of total persons in all the given years from 2018 to 2022 is2:3:3:4: 5, then
find the ratio of total Indians in the Gulf gver all t,he given years from 2018 to 2022.

$27:21:22:20

(. 91-95) : %amwwqémaxww aﬁtﬂ%%qmw%aﬁti

TTerehT Teh GehIGR gRT 3t 7 gl aﬁt'ﬁﬁﬁﬁh 3 & <Rl g 2 |
(Q. 91-95) : Study the data carefully and answer the questions given below :
The table shows the items sold by a shopkeeper and their prices and profit.
gy | ewanen | wmw/ | w

Item | Cost Prige: ?P‘roﬁt% Discount

Bag | 3230 | 10% | 48
¥1¢/Shirt 320 | 15% | 96
g/Eye- |, 200 | 25% | 35
{Glasses :

oSt /| 450 | 12% | 72
: Sad
thook 140 20% 14

o1, S 17, 2%@(1%@%3&@3@&%3@@5%3&&%@& TGN
T IFHTA el T T HIRIT |

Sneha purchased 1 Shirt, 2 Bags and 1 Pant and shopkeeper gave 5% additional discount on
the marked price, find the approximate total profit of the shopkeeper.

659
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92. =IYH I 3ifehd Heol JEcreh o ifehd Yoot A T feheT wersra 31fdres & 2

Marked price of Eye-glass is approximately how much percent more than the marked
price of Book ?
56.59%

93. AlG IS T ANT Yoo AL b ATTd e H 30% Afeeh & I GHFGR 35% BE ot 25%
it st =g §, it 3ifehd e I 8 ?
If the cost price of the Ring is 30% more than the cost price of Shirt and the shopkeeper wants

to earn 25% after giving 35% discount so what will be the marked price ?
< 800

94. GHMQR - T UTesh bl 2 WL, 3 =M, 2 Ye 3R | fobaral s=h lma@ﬁaaﬂmw
TG ?
The shopkeeper sold 2 Shirts, 3 Eye-glasses, 2 Pants and 1 Book to a customer: What is his

approximate average profit ?
T 47.75

95. wm%ﬁmmﬁaﬁtmm@zmmmw%?
What is the ratio of the discount percent of _the Eyé' glasses and Book sold by

shopkeeper ?
91 : 57

(3. 96-100) : mﬁmﬁa@amaﬁmmm%ﬁﬁ@éﬁmm%ﬁms 16 & 2020~
21 % 3% 91 3G P, Q,Raﬁxsmﬁwm(?aﬁgﬁ)ﬁmﬁm%l(m forhit —
fergrro =)

(Q. 96-100) : The questions are based ‘on the fo]lowmg table chart which represents the
advertisement expenditure (in ¥ crores) O‘f‘a trading company from 2015-16 to 2020-21 on
four of its products P, Q, R and S (Pmﬁt = Sales — Advertising expenditure)

99/ Year P | Oy Ry S
2015-16 | 507175 |50 | 25
2016-17 | 25N ja5% | 750 | 25
2017-18 [£95Q .50/ 75 25
2018-19 7 75%[ .25 0 25
2019-20. L\ \50- ¥'75 |- 50 | 50
2020-21 [%75 | 50 [ 100 | 25

ﬁqﬂﬂ;aﬁ%e@ﬂﬁﬁsﬂ THR G :
Sales for. given years are as follows :
p 2015-16 4 300%"&3 / crores
W, 2016-17 % 450 U / crores
201718 % 500 S / crores
2018-19 % 150 S / crores
2019-20 600 ?ﬁs / crores
2020-21 % 700 TS / crores

KM3 8740 18 &



96. fore o 1 3TTG Q 1 A TR 311§, i ek forshl gt wiet e skl eh1 20% & ?

In which year the product Q’s profit is the highest, if its sales form 20% of the total
sales every year ?
2020-21

97. feu mu ani 4, 3eure S 1 faFoA =@ P 3R R % fieme fasmoe == & ufewg & s o
froad i aeqsn g ?
Among the given years, the advertising expenditure of product S as a percentage of the
advertising expenditure of P and R together is least in { W

2020-21

f: 2%%’:3%@431%&

98. 3R} oy 2020-21 ¥ 3@ P, Q, R 31 S i foshi bt rgurer 2 : 5
Q % I <kl TR foerT Sferere & 7 T._ \
If the ratio of sales of the products P, Q, R and S in %he year 2020-21 is2:5:1:2, then
the profit of S is approximately what percentage Qf the prof t of Q in the same year ?
38.33% N

==

99. 2021- 221&“5@3&1%%‘%30%&311?12021 22%%qwﬁmq={@éaeﬁat@ra% |
A 2019-20 T 2020- 21aa;§ﬁrﬁam@éa%% | 2021-22 % fore sgfa ey @
T 212.225 608 '

In 2021-22, the sales of the compaﬂ¥ decreases by 30%. Total advertising expenses for 2021-
22 grow at the same rate: as ‘they did from the total advertising expenses 2019-20 to 2020-21.
What is the approxnmte ’proﬁt for 2021-22 ?

¥212 225 crores

100. afE 71 2016- 17-ﬁaﬁmﬁ%%qﬁﬁmmma’tm% 3t 2020-21 & QT &
?ru?n% aﬂtamarﬁ%ﬁm%wm% Y forer o & Rt ey e arfern & 7
**Jf the advettxsmg expenditure for all the products in the year 2016-17 is halved and that in
2 2020 "is doubled and for the other years it remains the same, then during which year the
: «profitis the highest ?
2019-20
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